OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDEET (BELR)
x1 -2 #HEFRR - £%7E
(1/7R=%)
sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
aa%dg
e ME £ s | mm | 20 [ xm | ok | tm [ ma | an % ;Jg it | xm |88 | wm | me | an [BER | T aw |
E BE

1| FERD KBS 26 6 56 3 26 0 0 29 6 0 6 34 785 819 7453 0 7453 8272
odl7oyL7s R 1 1 2 1 0 0 0 1 1 0 1 0 0 0 1100 of 1100 1100
slroymF 3 1 3 2 1 0 0 3 1 0 1 135 1 135 250 0 250 385
47 5 Y ILEBER T T DKAMEE S R of of 3| 2] o 2 3 1 a| 3600 of  se00] 3605
6|7/ U LEE2 —E ROFUTFIL 0 0 1 0 0 0 0 of o] o 0 0 0 0 0 0 0 0
7oy vwi—751 e 1 0 0 3| 4] o] 4 12 1 13[ 2254 of 2254 2266
8|72 VU ILEE X FIL 3| al o3[ o] o] o [ 1 of 1 401 0 a01| 10000 of 1o000[ 10401
almoryo=rYJL 1 1 2 0 1 0 0 1 1 0 1 0 1 1 0 0 0 2
BlF7Er=MY )L 8 15 15 7 2 0 0 9 15 0 15 5977 750 6727 200980 0 200980 207707
6|2, 2 —PYERAYVTFO=-rYIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
18|71 0 1 2 0 0 0 0 0 1 0 1 0 0 0 120000 0 120000 120000
Wo—7zT85 - 2 1 5| 2 0 0 0 2 1 1 2 " 0 K 680 0 680 692
W[ERFILFIRVEY ZILKVEROTD 0 2 2 0 0 0 0 0 2 0 2 0 0 0 145 0 145 145

B (PLFIVEORFEHAN10H0514F

COLDRUVEDEEWICES, )
ryFEYROCZOIEEY of 7| n of of of of of 7| o 7 0 0 of ee78 of ee78[  ss78
B /L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1200 0 1200 1200
61V LY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 260 0 260 260
RI2—AIFVYSVUFAY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1100 0 1100 1100
BIO—ITFI=0—4—=_rOT7z=IL=7 8 0 46 0 8 0 0 8 0 0 0 0 16 16 0 0 0 16

IZWHRRR/FAT—b (BIBEPN)
BlTFILIRVEY 225 21 227 225 1 0 0 226 21 0 21 144169 40 144209 21589 0 21589 165798
BlrFLvAEs K R s 3 o ol of o3[ o 1| 70 0 4710 0 200 200] 4910
s7lzFL Y Y a—LES ITFLI—FI 1 1 2 1 0 0 0 1 1 0 1 1200 0 1200 190 0 190 1390
eslTEsooke RY v 0 2 2 0 0 0 0 0 2 1 3 0 0 0 2010 0 2010 2010
e E =% 0 0 11 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HEHFEE - THR28EE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEd - BEERIDEE (BIR)
F1-2 #WEFRR  £KE
2/ 1~R=)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Bt -7
B | T Tk 2
meE o | as = | 2axm - s | mmy | TEE - =8

= MEART e | B8 | 2% | XS | 4k | 1 | 2 | 43 &% PN A + 123 &% ) &
B1—F9%—) 0 1 1 0 0 0 0 0 1 1 0 0 of 11000 of 11000 11000
75[H KIYARTVZDIEESY 7 of 46 0 7 0 0 7 0 0 0 12 12 0 0 0 12
6|4 FoOv—ATAOSIY A 1 2 2 0 1 0 0 1 2 2 0 9 9 585 0 585 594
|l LY 247 30| 275|247 1 0 0| 248 30 30| 292610 34 292644 36102 0| 36102| 328747
QR OF DIRHELSY 1 1 6 1 1 0 0 2 1 1 0 2 2 5 0 5 7
84|17 ) A XY —) 0 3 3 0 0 0 0 0 3 3 0 0 0 1681 0 1681 1681
87(/ O ARG =l O LAY 18 12 et 3f 17 0 of 20 12 12 276 333 609| 332654 of 332654| 333262
88|52 O b & 10 2| 49 of 10 0 of 10 2 2 0 45 45 2131 0 2131 2176
4lsony740x9y (RIZHCFC— 2 0 2 2 0 0 0 2 0 0 1086 0 1086 0 0 0 1086

22)
Mm|2—s00—-4, 6—EX (ZTFILT7ZI/ 2 of 46 0 2 0 0 2 0 0 0 1 1 0 0 0 1

) =1, 3, 5= N)7IY (BIEI<TY

VXIEFCAT)
12313 —snarary (BIEELET L) of o o o of o of 0o 0 0 0 0 0 0 0 0 0
125|7oORyE Y 1 1 1 1 1 0 0 2 1 1| 13000 1800 14800 1600 0 1600| 16400
12717 00KV L 10 12 12 10 2 0 0 12 12 12 13368 107 13475| 270397 0| 270397| 283872
1294 —yOO—-3—XAFNLT7z/—)b 0 1 1 0 0 0 0 0 1 1 0 0 0 6 0 6 6
1321250 NRUOF O)ﬂ:ﬁ#@ 3 5 9 1 3 0 0 4 5 5 0 737 737 4273 0 4273 5010
134|@EER £ = )L 3 1 3 2 1 0 0 3 1 1 643 0 643 200 0 200 843
135(@EfL 2 — X PO TFIN (RIGTFL VY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

JA—JLE/ AFII=FILT7ET—N)
137|v 7+ 3 K 1 1 2 1 1 0 0 2 1 1 340 100 440 32 0 32 472
1441 7 Vb GEERUVY 7 URES n 6 55 2 m 0 0 13 6 6 55 159 214 19857 0 19857 20071

<o)
45(2 — (YTFLF7I/) TH/)—I 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
147[N, N—=SITFILFAHILNIVES—4 8 of 46 0 8 0 0 8 0 0 0 5 5 0 0 0 5

— 70Oy I (BlaFANYAILTX

BRXVFAHR—T)

HRHEE « TR28FE




OBELBIHERUVBHEONRILFMERIRFHER

HE - BEISCRIORET (ZWLR)
%1 - 2 %B {‘ /\ é%*ﬁ
(3 /7 71R=Y)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
Bt
B | T ki 2
7] 0&
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= | ® B

149|MiE{b k3= 2 0 46 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0
15011, 4—-TA%HY 9 2 48 1 9 0 0 10 2 0 2 2700 15 2715 407 0 407 3122
54| 7 OnFI LTIV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1571, 2—v40O00T9 Y 5 5 51 3 3 0 0 6 5 0 5 2933 3 2936 41002 0| 41002 43937
1581, 1—=vsooOzFLy (BEElke= 6 of 46 0 6 0 0 6 0 0 0 0 8 8 0 0 0 8

UTv)
188> 2—-1, 2—-YsyQ0xTFL v 6 of 46 0 6 0 0 6 0 0 0 0 5 5 0 0 0 5
17901, 3—vsop7OoRy (A4&D-D) 2 ol 4 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0
185 c/auux\“/g J)An70/5y (B&H 1 2 2 1 0 0 0 1 2 0 2 1500 0 1500 310 0 310 1810

CFC—225)
186|rvoOxyy (BEEIEAFLY) 30 19 69 22 " 0 0 33 19 0 19 135776 138 135914 295931 0] 295931 431845
188N, N—<voOnxo)L7Iy 0 1 1 0 0 0 0 0 1 0 1 0 0 0 3400 0 3400 3400
10|y rsaRyEITY 1 1 1 1 0 0 0 1 1 0 1 7 0 7 440 0 449 447
22| IRV EY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1400 0 1400 1400
04|17 = )IT—FI) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 67 0 67 67
21012, 2—-yJOE-2->F7 /7 KNTX 1 0 1 0 1 0 0 1 0 0 0 0 76 76 0 0 0 76
213N, N=SXAFILTFERMNF7ZIR 2 2 2 2 2 0 0 4 2 0 2 1618 1108 2726 22400 o| 22400 25126
28| AFITIY 1 2 2 1 0 0 0 1 2 0 2 1 0 1 1640 0 1640 1641
2283, 3 —UAFLETIZIN—4, 4’ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

—IAN=IAY ST I~
20| XF =4, 47 — (FN+—Tz=L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 5700 0 5700 5700

v) EX (3—F47O77F—bt) (5l

BFAT7R—bDXFI)
231(3, 3’ =T AFIRVYITY (BEFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

b—bUTY)
232N, N=I XFILRILLAT IR 9 13 15 7 5 0 0 12 13 0 13 175775 1592 177367 623300 0] 623300 800667
234| B 3= 0 1 1 0 0 0 0 0 1 0 1 0 0 0 130 0 130 130

HRHEE « TR28FE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BEERID&RE (BLER)
x1 -2 #HEFRR - £%7E
4/ 1R=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
B -7
E | T TK#E Elj%
7) =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= | & BE
237[KEE RO F DL Y 2 ol 46 0 2 0 0 2 0 0 0 1 0 1 0 0 0 1
239|512 L&Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20|12 F LV 7 8 1 7 0 0 0 7 8 8 15428 0 0 15428 7661 0 7661 23089
L Y RUZFDILEY 13 ol 47 o| 13 0 of 13 0 0 0 146 0 146 0 0 0 146
2B ¥ UHE 48 25 58 37 21 0 1 59 25 25(1339. 2899(3. 3613806 980 (2322, 6513 (14894, 934 0]14894.934] 17217, 585
3 00013 106000013 4362 4362| 746800001
245|F A FR&= 1 2 3 0 1 0 0 1 2 2 0 9 0 9 2160 0 2160 2169
258|1, 3, 5, 7T—FrSTPHFINYSsO [ 2 3 4 1 1 0 0 2 3 3 5 1 0 6 3410 0 3410 3416
3. 3. 1. 1(3, 7)]7hv (BI&
NEBAFLYTHRSIY)
29NFMNSTFLFUSLYRILT 4K (Bl& 0 0 ! 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S2NTATL)
2602|7 hSoOO0TFL Y 7 1| 48 2 5 0 0 7 1 1 8720 1 0 8721 900 0 900 9621
265|7 NS kb ROXFILEKT Y IVEE 1 1 1 1 0 0 0 1 1 1 24 0 0 24 2400 0 2400 2424
288|F RS AFIFISLTZILT 1 K (BE 5 1 47 0 5 0 0 5 1 1 0 1 0 1 3300 0 3300 3301
FUOSLRIEFSL)
20| L 7 4 ILER 0 1 1 0 0 0 0 0 1 1 0 0 0 0 40 0 40 40
2IM|F L 28 IEES XA FIL 1 0 1 1 0 0 0 1 0 0 60 0 0 60 0 0 0 60
T2 [BAACANE (SEEAERRC, ) 16 ol 50 1 16 0 ol 17 0 0 7 439 0 510 0 0 0 510
25| RFUIIERBRF M) 5 A 1 1 3 0 1 0 0 1 1 1 0 910 0 910 840 0 840 1750
2IT|NYTFIVT IV 8 5 12 8 4 0 0 12 5 5 16467 4190 0 20657 17940 0 17940 38597
2I|NYTFLYFRSIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
219(1, 1, 1= Yy OOTd Y 6 of 46 0 6 0 0 6 0 0 0 23 0 23 0 0 0 23
280(1, 1, 2—hNYsOOTH Y 5 0 46 0 5 0 0 5 0 0 0 1 0 1 0 0 0 1
281 ysoOTFL Y 8 2| 48 2 6 0 0 8 2 2| 41200 2 of 41202 2300 0 2300| 43502
29111, 3, 5—rYR (2, 3—THRx> T 0 1 1 0 0 0 0 0 1 1 0 0 0 0 200 0 200 200
aEl) —1, 3, 6= NYF7Iv-2,
4, 6 (1H, 83H, 5H) —hYUAYV

HRHEE « TR28FE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (ZWLR)
x1-2 #MERFRG - £%E
(5 / 7TR=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
22\N) TFINT IV 0 1 1 0 0 0 0 0 1 1 0 0 0 4100 0 4100 4100
2961, 2, 4—RNYXFILRVEY 22| m| 2s1f 222 0 0 o 222[ 1| 37204 0 37204| 6482 o]  e482| 43776
29711, 3, B—=hNUXFILRVEY 84 7| 128 84 0 0 0 84 7 7 8516 0 8516 1681 0 1681 10197
300| kLT 268 45| 269 268 5 0 o| 273 45 45| 628045 9105 637151 974831 0| 974831 1611981
02(F 75 L v 3 3| 4] 3 0 0 0 3 3 I 0 3260 328 0 328 3588
304|484 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30558015 1 7| 59 2 9 0 of 7 7 14 17 31| 97532 o| 97532 97563
306|= 7V Y ILEEAFHAFL Y 0 2 3 0 0 0 0 0 2 2 0 0 0 920 0 920 920
308[=w L 5 6| 20 2 3 0 0 5 6 6 2 28 31 4154 0 4154 4185
309|= v # L LS 18] 17[ 25 2| 16 0 of 18[ 17 17 17| 6416 6433| 89774 o| 89774| 96207
6[= rORVEY 0 1 1 0 0 0 0 0 1 1 0 0 0 1500 0 1500 1500
R1|RFT 9 LLEY 4 3 6 2 4 0 0 6 3 3 29 907 936 107700 0| 107700| 108636
3282 (N, N=SXFILIFFAINIY 0 1 1 0 0 0 0 0 1 1 0 0 o] 3000 o] 3000 3000
B) min (BlHY54L)

3R|WER VT DE-(ILSY 14 2| 48 o 14 0 of 14f 2 2 0 82 82 561 0 561 643
ek I NS B 1 0 1 1 0 0 0 1 0 0 23 0 23 0 0 0 23
335[:1; (4—kEROFY 7o) PERNT 0 1 2 0 0 0 0 0 1 1 0 0 0 120 0 120 120
36l kOF v 0 1 1 0 0 0 0 0 1 1 0 0 o| 5700 o| 5700 5700
MMeprsoy 1 1 1 0 1 0 0 1 1 1 0 73 73 890 0 890 963
ey oy 6 7 7 5 2 0 0 7 7 7 936 133 1069] 76130 o 76130 77199
Mlyvrz=zLvvrzy 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M9l — 6 6 1 5 1 0 0 6 6 6 1222 1 1223|6293 o 6293 7516
‘Uz o LB — L= —TFI 2 0 3 0 2 0 0 2 0 0 0 4 4 0 0 0 4
38574 LBER (2 —TFIAFUI) 5 of 12 a2 0 0 6 9 9 135 3 138] 12055 o| 12055 12193
368|4 —9—S v ) —TFILTT)—I 0 1 1 0 0 0 0 0 1 1 0 0 0 750 0 750 750

HRHEE « TR28FE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (BWR)
®1-2 #MEFRH -  £2XE
6/ 7°=%)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-7
B kit Eﬁ%
T Tk =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= k| B %E

374| 3 o LK ER UV F DK AME 26 4 57 9 25 0 of 34 4 0 4 1520 15525 17045 4013 0 4013 21058
3841 —ToESONRY 1 0 1 1 0 0 0 1 0 0 0 3800 0 3800 0 0 0 3800
32|/ I —~FH Y 206 8| 207| 206 0 0 o| 206 8 0 8| 51689 0 51689| 27644 of 27644| 79333
394|~R 1) U'?L\&U“%@'ﬂﬁﬁ\% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
39| ~LA F YV ZEREBDKANMEE 2 2 5 0 2 0 0 2 2 0 2 0 131 131 1407 0 1407 1538
3[RV ZFILTFE R 0 1 2 0 0 0 0 0 1 0 1 0 0 0 220 0 220 220
00|Rv Y 201 of 241 195 7 0 of 202 0 0 0 3776 13 3789 0 0 0 3789
LUK IRV I 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
40513 5 ELAW 41 16 66 L 0 of 4 16 of 16 37| 48777 48814 79034 of 79034| 127848
406|7/R) FBILET =)L (BIRPCB) 1 of 46 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0
407178 (FAFPITFLY) =FLFILI—F 2 6 6 0 2 0 0 2 6 1 7 0 63 63 7029 0 7029 7092

W (TIVFIVEDRFEN1 20515 F

TRLDRUVZDEEWICIRD, )
48| (AFTVIFLY) =49 FITxz= 0 1 1 0 0 0 0 0 1 0 1 0 0 0 970 0 970 970

IVIT—FTI)b
409|RY (XL ITFLY) =RFVILI—F 1 0 1 0 1 0 0 1 0 0 0 0 1200 1200 0 0 0 1200

VREBTZRTIVF RY DA
40| (AFvTFLY) =/=)TT=) 1 2 3 0 1 0 0 1 2 0 2 0 4 4 180 0 180 184

I—7)
MR ATILTE R 7 50 n 7 3 0 of 10 5 0 5 5364 191 5555 582 0 582 6138
MTVHYRVTZEDLEY 31 9] 75 |1 2 0 o 34 19 0 19 392 2900 3292| 291046 0| 291046] 294338
413|8;K 7 4 ILER 1 0 1 1 0 0 0 1 0 0 0 1 0 1 0 0 0 1
n4lmk< L4 Vg 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
45(X & 42 Y LER 2 2 3 1 1 0 0 2 2 0 2 0 2 2 1 0 1 4
A6|AZ VY IEE2 —TFIAFUI 1 1 1 1 0 0 0 1 1 0 1 2 0 2 9 0 9 1
48X VY NEE2 — (UAFINTI)) ITF 1 1 2 1 0 0 0 1 1 0 1 0 0 0 2 0 2 2

)12
49| X5 Y LB/ LI —TFIL 1 1 1 1 0 0 0 1 1 0 1 2 0 2 120 0 120 122

HRHEE « TR28FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (BWR)
xR1-2 #HEFRR - £2%E
(77 1R=9)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
it
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
420|X 85 5 Y JLEEX F L 5 2 6 4 2 0 0 6 2 0 2| 13835 601 14435] 59150 o] s59150| 73585
23 xFrzy 1 1 1 1 0 0 0 1 1 0 1 5 0 5 7300 0 7300 7305
4BIXAFIFT7H9 LV 39 2 48 39 0 0 0 39 2 0 2 2550 0 2550 2700 0 2700 5250
464, 47 —XAFLTTF=ZYY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WA FLVER (4, 1—71=LY) =¥ 0 4 10 0 0 0 0 0 4 0 4 0 0 0 622 0 622 622
AVSTER—b

2012 = A WAT KRV FFTY—)U 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
w3lEy 7Y ROTOIEESY 4 6 9 3 4 0 0 7 6 0 6 18 2754 2172| 27500 ol 27500| 30272
45| )R Y v 1 1 2 1 1 0 0 2 1 0 1 1000 2 1002 400 0 400 1402
BIYABEN) 2L 0 1 2 0 0 0 0 0 1 0 1 0 0 0 280 0 280 280
= 2042 468| 3566| 1698 416 0 1| 2115 467 4 471 1643802 102539 1746341 4004201 201| 4004401| 5750742

HRHEE « TR28FE




